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(6x— 2)(6x + 5)(3x— 1)

(5x2 —4)(3x—6) — 5% +x—2

(4x + 5)(4x* — 6x— 1) — (2x + 1)(5x + 3)

(5% = 3x+4)(2x—5)—2x5x+ 6

(xz— 1)(x+3)—3x2 —3x+5

Dato: Score:

(3x° + 2)(5x + 6) — 3¢ — 6x — 3

(4x* — 4x—5)2x— 1)~ 1 x Sx + 2

o+ 2x—3)(5x—2)— 6 x 4x— 6

(x— 6)(5x° + 5x — 3) — (3x — 2)(5x + 4)

(6x° — 3)(4x —3) + ¥ — 6x — 3
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Navn:

(6x — 2)(6x + 5)3x — 1)
108x° + 18x% — 48x + 10

(52 = HBx—6) — 57 +x—2
15%° — 352 — 1lx+ 22

(4x + 5)(4x> — 6x— 1) — (2x + D)(5x + 3)
16x° — 14x* —45x— 8

(5x2 = 3x+4)(2x— 5)—2 x 5x+ 6
10x° — 31x% + 13x— 14

(F = Dx+3) =37 —3x+5

X —dx+2

Dato: Score:

(3x% + 2)(5x+ 6) — 3% —6x — 3
15X + 15x% +4x+ 9

(4 — 4x—5)2x— 1)~ 1 x 5x+ 2
8 — 12¢% — llx+ 7

2 +2x=3)5x—2)— 6 x4x— 6
57 + 8¢ — 43x

(x— 6)(5x% + 5x— 3)— (3x — 2)(5x + 4)
5% — 40x% — 35x + 26

(6x> — 3)(4x—3) +x* — 6x — 3
24x> —17x* — 18x+ 6
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